OO

TEM[QTY | PART No DESCRIPTION

T 11 C62.61121 MK 3 TAIL LIGHT BODY MODIFIED
2 | 1 Cb4.65074 | SERIAL NUMBER LABEL (AUSTRALIAN MK 3 TAIL LAMP)
3 [ 1 D29.28022 POSITIVE BATT STRIP ASSY (MK3 TAIL LIGHT)
A D29.28023 NEGATIVE BATT STRIP ASSY (MK3 TAIL LIGHT)
5 17 B17.16146 M6 BATTERY CARRIER BOLT (MK3 TAIL LAMP)
6 | 1 B18.17063 M6 S/S SPRING WASHER
7 [ 1 B05.04018 MK3 TAIL LIGHT BATTERY CARRIER
8 | 4 B09.08153 BATTERY PAD
9 [ B09.08155 FELT BREATHING PLUG (MK3 TAIL LIGHT)
10 [ 1 D29.28024 SEALING RING (MK3 TAIL LIGHT)
11 1 B05.04017 MK3 TAIL LIGHT LENS (RED)
212 B18.17026 MZ X6 LONG POZI PAN HEAD SCREW (S5)
13 | 2 B18.17029 M2 PLAIN WASHER
14 | 2 B18.17030 M2 SPRING WASHER
15 | 4 B18.17056 M4 X 20 POZI PAN HEAD SCREW (55)

c 16 | 4 B18.17051 M4 SPRING WASHER
17 | 4 B18.17047 M4 PLAIN WASHER

J 18 [ 1 B70.69014 BLACK REFLECTOR, METALLISED
v 19 [ 1 D29.28018 MK3 TAIL LIGHT PCB ASSY
s SR 20 | 1 B09.08154 O-RING
21 | 1 B05.04020 SWITCH MOULDING
2 [ 1 B05.04021 SWITCH WASHER
23 | 1 B17.16148 PUSH ON RETAINING WASHER
24 | 2 B05.04019 LOW BATTERY INDICATOR LENS
25 11 B16.15181 REFLECTIVE LABEL (RED)
0,5 MAX-0,1MIN :) 26 | 1 B15.14047 CARTON

27 17 C64.65043 MK3 TAIL LAMP INSTRUCTION SHEET (AUSTRALIAN)

23

/I

2

APPLY VASELINE]
T0 CONTACT
PADS

| =t

?Q?Q

SEAL JOINT TO BOTTOM AS SHOWN

@) |

APPLY A SPOT OF DOW CORNING 3140
SILICONE TO RETAIN PLUG

\_ _/ /i =1/ N g

>\ ONE ON EACH INSIDE FACE
COAT THREADS OF 7 8 VIEW WITH LENS REMOVED
BOLT WITH VASELINE -
94 (STAKE 4-POS AS SHOWN) PRIOR TO FITTING — ~—

7\ ~ ATTACH TO BATTERY CARRIER PRIOR TO ASSY

A
’ \ N ( 1 \

18/08/14 | MD| SEE ECN628_16

o|=(v|w

©,
J
(C @) ] C @)
\mrﬂi ® ]’] ! \ 17/12/13 | IW |ECN347
Q)] I® X 4
= 1] P \ I 16/05/13_| AD| SEE DCC6589
J < / i . 17/04/13_| AD| ORIGINAL DCC 6530

\{ ‘ ISS| DATE |INI | ALTERATIONS
o o o o \ [ ! I' 'I
—= >
[ @) T T @) | \ V] / = uu'm
C\ | | /) \ APPLY SILICONE GREASE ’ _RA,L
b - \ =/ DORMAN
d
82 (STAKE 4-POS AS SHOWN = v4
¢ ) PART NUMBER BARCODE DORMAN REF No. TITLE PROJECT No.
MK 3 TAIL LAMP ASSY AUSTRALIAN (FLASH) 099 WENNINGTON ROAD. SOUTHRORT £RO 71N,
w MATERIAL m DRAWN A DREWETT THIS DOCUMENT ANI??H?‘}?{FE)RTAT“&F%E%EN IS_CONFIDENTIAL AND MAY
- § o + % - 8125) CHECKED IW JAUTH. CP NOT BE USED OR DISCLOSED WTHOUT WRITTEN AUTHORIZATION
s + - s
B I T T ALL DIMENSIONS IN MM 3RD ANGLE PROJ X,00 + % - 0,05 géIF_E 161/04/2013 DRAWING / PART No.
UNLESS OTHERWISE STATED X,000 + - 0,025 :
DO NOT SCALE @_E' ANGULAR + - 0.25° [SHEET 1 OF 1  SHEETS AUSRTLNB/ R
1 2 3 4 5 | 6 7 | 8 ] 9 | 10 1 | 12 | 13 | 14 I 15 Al






